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IT Semester B Com./BCLS-2 Degree Examlnatlon, September 2021
: , COMMERCE ' -
Methods and Teehmques for Busmess Data Analys1s .
(CBCS Scheme Regular and Repeaters 2019-20 Onwards)
. :"' Paper 2.6

. Time : 3 Hours T : . Maximum Marks': 70
Instructtons t0 Candzdates ' o : '
~ Answers should be completely in Enghsh

SECTION A

_ Answer any FIVE of the fo owmg questlons Each questlon carries Two Marks (5><2—10)
1. a)  Find the 10® term of , 14..,_,;......, o ‘
| b)  Whatis anull rnatrlx‘7 \ ( / @ o
c) Solve 3x* =27 =0 : - | Qq@y :
- d) | What are even nhmbe_fs? o "

¢)  Find x'if50:25=1o;x |

SRR o 1 2 ,(’71‘ 07 -
) IfA | B=]" - | find A-B. .

g) ‘What is Simple Interest? . -
o ' SECTION - B

'Answer any THREE of the followmg questxons Each qheshon carries. Flve Marks
y o (3x5—15)
2. Solve by ,ehmmatl,on method
x+2y=4
3xty=T"
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3. Find the sum of the : series 99+101+1o3 to 25 terms.
B 13 4 7
4. Showthat 21 3__-.40' L
o s »—1 2l |
- 5.  Find Compound Interest on Rs.40,000 at5% Interest p;a.. for 3 years.f_ |

- i SECTION (of o .
Answer any THREE of the followmg questlons Each questron carries 15 Marks o
: (3><15-—45)‘ 2
IfA=|4 2 4| prove that AL 8A-2OI—O B - S ®

b)

2@%

’ The sum ofthree numbers in GP is -24 their product is 125 Find the numbers @)
9”

The annual income of two persons is in the%l} 5and thelr annual expendlture ,
in the ratio of 5:3. If they save Rs.1,200 p.a. and R§.1,000 p.a, find their incomes.(8)

_ Find the difference between Compound Interest and Simple interest an Rs.5, 000

- interested for 4 years at 8% p.a. ‘ r . (7)
Solve for x under formula method 9x ~3x - 2 0o o ¢33
" The present age of three persons is in the ratio of 4: 7: 9 Elght years ago the sum of
their ages were 56. Find their | present ages. R s o
Solve by Cramer’ srule L () B
4x-2y=8 | | | ‘
C3x-y=4 | S - S
-Solve for x o ' e ) ‘_ . ts) o

3x=1 x+2 9x+12 Gl . SRS
——+ == ~2 o | o




